Adjectives - Lesson 2 - Three sentences - answers

Write down three sentences next to the picture. Then write three contractions (one

positive, one negative).

Itis a blue dog.
It is not a green bird.

Is it a blue dog?

It's a blue dog
It's not a green bird.

It isn't a green snake.

It is a green bird.
It is not a black bird.

Is it a green bird?

It's a green bird.
It's not a black bird.

Itisn't a black bird.

It is a black cat.
It is not a red cat.

Is it a black cat?

It's a black cat.
It's not a red cat.

[tisn't a red cat.

Itis a red elephant.

Is it a red elephant?

It is not a yellow elephant.

It's a red elephant.
It's not a yellow elephant.

Itisn't a yellow elephant.

It is a blue dog.
It is not a green dog.

Is it a blue dog?

It's a yellow snake.
It's not a green dog.

Itisnt a green dog.

It is a white fish.

It is not a blue fish.

Is it a white fish?

It's a white fish.
It's not a blue fish.

Itisn't a blue fish.
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